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Part — |
Child Development and Teaching Method

Q1. 31T 9% H USR &-d1 §
1) GRUFH T & BRI

2) IR & BRI

3) Y&BHH &b HRUI

4) FIRfT & BRI

Q2. YT ot Ttefur b e AU B UG Bl 87
1) 31T &1 i

2) SHTETH-3=Rl

3) oIl

4) B

Q3. T3S fieer % g & I frads Ao o yged gia 872
1)<

2) Hfgdd

3) SHHEHT

4) A3

Q4. g o HH-a1 A9 | T 82
1) T .

2) 16-U. UW.

3) X3 T TLT&fur

4) 31T T

Q5.7,8,9, 10, 11, 12 3 AHHT §
1) 8

2)9

3) 10
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4)95

Q6. I 1 3P & RIgr &1 ufaured fen foar g2
1) YHSE®H

2) TReTeeard! FAIdRAeS

3) gMef

4) R

Q7. HEgTd & STIAR UAD Ha Ughe J Greieg el &
1) I3

2) FaT

3) Hae

4) fa=A

Q1. Plateau in learning curve is caused due to
1) maturation

2) motivation

3) fatigue

4) interest

Q2. Mirror drawing test is used to measure
1) rate of learning

2) transfer of learning

3) creativity

4) interest

Q3. Cloud picture test is used to measure which of the following?
1) Intelligence

2) Personality

3) Aptitude

4) Interest

Q4. Find the odd one.
1) TAT
2) 16-PF
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3) Ravan’s test
4) Draw-a-Man test

Q5. The median of 7, 8, 9, 10, 11, 12 is
1)8

2)9

3) 10

4)9.5

Q6. Who has propounded the theory of insight?
1) Thorndike

2) Gestalt Psychologist

3) Hegarty

4) Skinner

Q7. According to McDougall, every instinct is associated with
1) cognition

2) emotion

3) sensation

4) thinking

Q8. Jd 3Hd & YR TR a1 &1 3712 g &A1 Hedrdl &
1) HdaT

2) UTE&RI

3) SAFTROM

4) B

Q. Urd a¥ & Hg Pt AHRIE 3T 3113 I8 ¢ | IUDB! g s fba-l 82
1) 150
2) 160
3) 140
4) 135

Q10. -7 §fg Al TR A<gfex aTa It o1 URIEUEN gfa afsl TR Hedrd 8?2
1) 70-79
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2) 50-69
3) 36-49
4)35Td Y

Q11. M SHedlle o ST YA 9 8 3 fosdds A= gq fasan omar g2
1) Afddd

2)¥fs

3) 3

4) SifHerAT

Q12. g ¥ § H-u1 fawfd &1 SR 8l 82
1) e o et

2) TR HRA B TBT

3) OFRIP g&

4) e @ qrogut fafert

Q13. 98 fagmM, S ST e & Uaha B, faHTioId &, TRdd &4, a1 B 3R SRS H3A &
fafy & gafRid §, e 5.

1) gt

2) TIford

3) Sarfafd

4) RIS

Q8. Giving the meaning to sensation on the basis of past experience is called
1) sensation
2) perception
3) motivation

4) imagination

Q9. Five-year-old Mohan has mental age of eight. What is his 1Q?
1) 150
2) 160
3) 140
4) 135
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Q10. Which IQ range is called trainable IQ level of mentally retarded children?
1) 70-79

2) 50-69

3) 36-49

4) 35 and below

Q11. Rorschach inkblot test is used to measure which of the following?
1) Personality

2) Intelligence

3) Interest

4) Aptitude

Q12. Which of the following is not the cause of forgetting?
1) Under-learning

2) Desire to remember

3) Mental conflict

4) Defective methods of remembering

Q13. The science which deals with the methods of collecting, classifying, presenting, comparing
and interpreting numerical data is called

1) statistics

2) mathematics

3) geometry

4) probability

Q14. Use I=t & fe Qe afe o} srauron frem & g2
1) a4

2) T

3) §¢4 g1

IR

Q15. 9 H ¥ S19-T1 T ITH TR B fawarsii T firg g7
1) fayg-igd
2) qYar
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3) aGEAl

4) 3iferAd

Q16. M9 & A HH-I1 g BT Rigr 781 22
1) Uh-awd g

2) fg-aa frgra 3

3) YN &1 g

4) §gd Rigrd

Q17. g O ¥ HH-T & sr-mdt ufy 7e 82
1) Tfgwa ufy

2) Uigy 9=

3) AR IR

4) YTRI3S U=

Q18. FIaTS & 3ITUR WHIES [abm &1 fgdia sawi g
1) IS AR

2) 3Nu=nies Tihar ot Sra=T

3) Jd-Wfch T B el

4) T T Bt SaRT

Q19. AR [IH™ FHI YUIfId HA T HRS DHIH-T 82
1) IRITGPH

2) JTATERUT

3) W qYUT AW

4) IR gt

Q14. Who has given the concept of educational Quotient for backward children?
1) Gordon

2) Schonell

3) Burton Hall

4) Cyril Burt
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Q15. Which among the following is different from the characteristics of a good test?
1) Reliability

2) Validity

3) Obijectivity

4) Aptitude

Q16. Which of the following is not the theory of intelligence?
1) Unifactor theory

2) Two-factor theory

3) Theory of regression

4) Multifactor theory

Q17. Which one of the following is not a ductless gland?
1) Adrenal gland
2) Pituitary gland
3) Salivary gland
4) Thyroid gland

Q18. According to Piaget, the second stage of cognitive development is
1) sensorimotor stage

2) formal operations stage

3) pre-operations stage

4) concrete operations stage

Q19. What is the factor influencing physical development?
1) Heredity

2) Environment

3) Sports and exercise

4) All of the above

Q20. §fG e B} 70T &7 TS T g A pH AT R?
1) AFRIS 31 / dRdfdd 311G x 100

2) dRdfde 311 / AR 31y

3) (@Rdfddh 3T / ARG ) x 100

4) gHRi® 31 / (dRdid® 3G x 100)
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Q21. Fia e I &) T=f 397 A fpa B 82
1) Sgdt

2) g

3) gead

4) §R

Q22. THATHS dh & TRI | HIF-Y! A T8 g2
1) 3fdclich

2) TG

3) JHTIHRI

4) HeGl

Q23. It Tt 1 BT YR HRA 3R TR0 HA H S Bd g
1) fawumor @

2) RO §

3) YRUT §

4) o ®

Q24. 71 Ugfy B U U faRiwen &, S ot St §
1) Fad 7 o

2) had fafcerdl aur 9gi o

3) Tt Tnfort & quT U SIS @ UIhfae gt |
4) Had HADBRI H

Q20. Which of the following is correct formula to calculate 1Q?
1) MA/CA%100

2) CAIMA

3) CA/IMAx100

4) MA/(CA%100)

Q21. Who among the following described ‘reflective thinking’?

1) Dewey
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2) Ross
3) Woodworth
4) Drever

Q22. Which is not included in the levels of inductive reasoning?
1) Observation

2) Experiment

3) Generalization

4) Imagination

Q23. Failure in retention and recall of learnt content is
1) forgetting

2) memory

3) retention

4) thinking

Q24. The main characteristic of basic instinct is that which is found only in
1) human beings

2) cats and rats

3) all organisms and it is inborn and natural

4) artists

Q25. YR HfAe™ & o 3wg | 6-14 -7 & Sl & o) (:[eh 9 3fHard e &1
PR 2nfive foman mar 82

1) 3G 26

2) 3 ®¢ 15

3) 3fJ@q 45

4) 356 21 A

Q26. HIR A Afad &I g & T fog ua UeR | avifg fasar g2

1) PRIGH (goia)
2) YeIaHh

3) MA®™

4) IWiad T+
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Q27.&. 3. & &1 Iexa g o I farrest A1oA 82
1) FfGH e

2) ATedm

3) Sif¥Hgf

4) 759

Q28. W &1 Rigd 9 & 3 fhue! e axdl 82
1) 3ffery

2) §fd

IR

4) GSHTAG T

Q29. g o § -t Rien Aifae= &t qaiftie safaaf~s fafyr 82
1) 3G

2) SfgexH

3) 3fadih

4) TARTHRT

30. Ueae qugyT Y & O fore) qeafRid €2
1) AT R g

2) SgagRarel R

3) IS faeTg &1 Rigrd

4) A faer

Q25. The right to free and compulsory education for children between age group of 6-14 has been
included in the Indian Constitution as

1) Article 26

2) Article 15

3) Article 45

4) Article 21A

Q26. Kretschmer has classified the persons in which one of the following main types?
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1) Asthenic

2) Athletic

3) Pyknic

4) All of the above

Q27. The purpose of TET is to measure which of the following?
1) Intelligence

2) Aptitude

3) Attitude

4) Values

Q28. Consolidation theory explains which of the following?
1) Learning

2) Memory

3) Motivation

4) Creativity

Q29. Which of the following is the most subjective method of educational psychology?
1) Introspection

2) Extrospection

3) Observation

4) Experimentation

Q30. Albert Bandura is associated with which of the following?
1) Social learning theory

2) Behavioural theory

3) Cognitive development theory

4) Psychosexual development

Part — Il
Language — | (Hindi)
Q31. TR BT faena §

1) I9H
2) A
3) 3T
4) T
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Q32. TR Vg H1 U4 §
1) 3%

2) "y

3) TeH

4) 3T

Q33. "yl 3rufq Shal gRT 81 aTer () - Ire & fort Ue Wss §
1) 3Mfergfaes

2) 3o

3) snfiicfes

4) S{TEHTCt

Q34. Fe B A gy Fgy o1 31df @
1) STH SIRGH H ST

2) 98 BT [SUDBR g} b Sl Tebd
3) 358 fad B gl

4) forft o1 axg fredt @R & &

Q35. THol H HIH-IT THY 872
1) 58

2)fs1

3) FHYRY

4) Igdiife

Q36. 3NTATE HET odl &
1) HETYTUT b1
2) @R U4 faw &t
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3) gad o &l
4) YT DI

Q37. Udh 3R STRIE TRy Teh 3R TR |
[EESECEEICK Rkt R el

3 UfekTal § Tged 39 @

1) A%

2) IR

3) YAHDHRY

4) BB ™

Q38. I faufda Ao & 3 f5g wR® & fore wrgad gidn 82
1) ol

2) &

3) GHIGH

4) T

Q39. I TETHR HIoH b - 37 I1a H FeTehr Fifeed o ¥ b fobar &1 I 82
1) g fobar

2) IRundfes fopan

3) fgmdi® fopa

4) qdeTere fopan

Q40. Frafiiad & ar e ot R = @
1) & g fafdr

2) 3 fafdr

3) AT fafy

4) g9ad UTe fafy

Q41. Fufifed 7 sfigares e ¢
1) WY AR g yral &I Sifiead HA
2) TTfed T THATG HRAT
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3) fgdes T
4) Y91 3R Tifgd & B

Q42. =< Tifig & e & ey § T+ dRATTIER foIewR 3 fgarar fa- foran g2
1) SiTel SfeTeH B

2) GHrd HHR Fesit

3) TN & ot

4) izt

Q43. “favet aradt <t 1

S0 T o e i 2 B

T SR I g Tisd IR M T’
forgen) dfekT 82

1) geSlleTs

2) HRTSTE

SEIEIEIRI]

4) TATETS

Q44. Bt HTUBA UA &
1) 3&d HIUS

2) sfae™ faftRA=®
3) TR IR

4) giReis TRTSA

Q45. ! Tl BI At &
1) ARfaT

2) Hg-d!

3) TSI

4) AT

Q46. Tfsar iR TIf$TT F FTAER DI 82
1) HOT At
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2) Bt g
3) UHT WdH
4) JNT fUriaer

Q47. I 3T U ol & ITIHR BT A4 &-
1) TSRO e
2) STefp ™I He

3) TP T
4) ¥eR Ui g

Q48. TRaTH! Jerdicar 1 Fe aRIUR! & g g UR gan?
1) GRMYHY °Te

2) 31 °Te

3) XM °Ie

4) At O TTe

Q49. HIFTHTA & TIIHR &
1) 14T

2) HYd G

3) fawy T

4) g<R TN

frd=n: fou U e ) ug FafaRad vl & w6t fdwed sifeul

¢ UTE R & AN H Ja9 31f¥e ST o &) <eldn, 350 o1 SRR 3R 79 &f Redar 9 usdh
2| I P Dot HIH H T 3R Y 3T & GR-H DTHI BT F7 T80T 3R A 3R Tefurar gt
81 99 09 361 F & offg H UST T 81 ofd & IS ST T UdehT §3MT al I8 ATHT Y TR HIHHR
3T Y UTAH T §, TR IUHT A gfaem H UsT 38T 8 ot WrduRar 39 fAfda & 9l sik Iuer afea
YU & T g1 SRR | SfIT U8 98 SR & {3 SHTeT for a1 ) ) ot afy <, S foer amed
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I, gIeue o ST I 39 TR H fSan s3-98 o7 &1 T4t 7 3/ Peoy &) 9ad 98 AT §,
Fifp T HH I fhT I Fa- 30 i TR &M ¢ O HT §aid fopar| {5 it & ag or
U1 ST 8, d 81 SR Iafd &l g SR TR & ST A 3HTex 3§ foran Srar g1 S @ @ gl
30 Picd TR T T8I &, d FHR H oIfoTd 81 & SR Fe AT T4 YU DR & | eied Urer 3R
T & ST IS T4 g | S T (U1 S UIe Bl &, a8 30+ HIH| SR Ja-! 8§ Tedl bl
gdfa ff Xad1 8| Tl 81 T U1 g & ol 59 IR H T 30 Sl & qoherdl 01 9 g,
Fifh TAR A BI3 B Y3 AT U ol 9d Tbdl| S B IA UTY, Ffeadr 3R SRl 9 it g
3o ST B3 U A T Usal 8, S g &1, {5 a1 &1 s we, [t a1 &1 U, go-
7S G B1 g1 # g1 e onfe | po T8 a1 8 O Yg <! §Td ST d &, TR R gl & ol
3¢ oadl ¢ | T8 AT 79 H T § [ $3 Jao! TG SR gH (U1 HIH B o, TR ardd J 9
30 ) € gT 1d § 3R 37 H 37ep! Ul Gl ST TR JHTS & AT I8 gUT R B

Q50. YH UTe - & FTeT STa aTelt Ugiadl di--3 g2

1) SR T, 24 1 (a7 1 9T <= 7GR T g
2) ¢ BT I T AT

3) 3T Bt 3BT

4) BRI B HHT

Q51. YR & F3-8 Nl A Tay I8 AHT &
1) 39 IRF DI

2) YaER Bl

3) WUBR Bl

4) 3 Had DI

Q52. Faadr Weg & Iuw 3R T &1 el fadwed §
1)ﬁ|{+§|ﬂ+?ﬂ

) R+9a+a

3) R + ga1d + 31

4) FR + 9 + 31l
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Q53. BT B HITdTID IS
1) 3PTIRAT

2) BIRA

3) BTG

4) BT

Q54. ‘30T HdAd HebTa- arar & forg 3fod Wsg 1 82
1) Tareff

2) WfuRar

3) WifwRe

4) piea

Q55. HH-UT a1 Y[G 672

1) Al H TF-a 9T 37 37T

2) TRRRM & 1oy 7 &l &1 e faan
3) TIferd Y ANST BT ISP ©

4) qefl R P b KT

Q56. faemdf & HH-3 W g2
1) <9 4fY
2) gf Sfd
3) 70T iy
4) qu] Y

Q57. HRA $1 GUTT e §
1) 9™

2) fafea

3) T

4) I H Q PIg Tl

Q58. a1 faug H13f 8
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1) Tegl BT gl

2) AT TG HRAT

3) AT WS| Dl -3 HReh ID] G FAMT
4) TfY 3R JA FdMT

Q59. fag o 9 A fog &,
R fog & o fafy 7

< Uil § Uge 3R 8
1) favraar

2) fa=ifad

3) 3rGTfd

4) T

Q60. g’ BT dGH =7 T 82
1) gl

2) g

3) Hells

4) i

Part — 11l
Language Il (English)

Q61. ‘To chew the cud’ correctly means
1) to contrive against someone

2) to die on duty

3) to mediate

4) to inculcate virtues

Directions: Complete the sentences in the following questions (Question Nos. 62 to 64) with most
appropriate choice.

Q62. He was very much ashamed _ his mischief.

1) for
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2) of
3) with
4) over

Q63. __ he stood first, he would have gone to America.
1) If

2) Had

3) Have

4) Anyways

Q64. Of the sword and pen, the is more powerful.
1) last one

2) later

3) latter

4) last

Q65. Which prefix can be used with the following words?
Behave, guide, use

1)in

2) dis

3) mis

4) re

Q66. Choose the correct sentence.

1) The committee were one on this point.
2) The committee was one on this point

3) The committee was divided on this point

4) The committee have one on this point.

Q67. Which of the following is an example of simile?
1) | wandered lonely as a cloud

2) Life is a dream

3) Anxiety is sitting on her face

4) A lie has no legs.

Q68. Change the following sentence into active voice:

The visitors were shown the newborn by the woman.
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1) The newborn was shown to the visitors by the woman.
2) The woman has shown the newborn to the visitors.

3) The woman showed the visitors the newborn

4) The woman might have shown the newborn.

Q69. Select the antonym for the word ‘adverse’.
1) Hostile

2) Friendly

3) Inimical

4) Unwilling

Q70. Fill in the blank with correct word to complete the proverb:
Bloodis ___ than water.

1) thinner

2) thicker

3) purer

4) precious

Q71. Bees are kept in
1) a pantry

2) a nursery

3) an apiary

4) an aquarium

Q72. The idiom ‘green-eyed monster’ means
1) to be jealous

2) to be sick

3) to be angry

4) to be blind

Q73. Select the sentence in which the article has been wrongly used.
1) He is a MA

2) Twelve inches make a foot

3) A pupil should obey his teacher

4) He is a European

Q74. Pick out the correct question tag for the following:
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People shouldn’t drink and drive,
1) should they?

2) shouldn’t they?

3) isn’t it?

4) shall they?

Q75. A sentence is divided into four parts (A), (B), (C), and (D). Point out the part that has an error:
(A) You are learning English

(B) for the last one year

(C) but you show

(D) no improvement at all

1) A

2)B

3)C

4)D

Q76. Give one-word substitution for the following:
The scientific study of insects

1) Criminology

2) Entomology

3) Mycology

4) Meteorology

Q77. Point out the correct direct speech for the following:
| asked why he was looking through the keyhole.

1) “Are you looking through the keyhole?” | said.

2) “Do not look through the keyhole,” | said.

3) “Why are you looking through the keyhole?” | said.

4) “You are looking through the keyhole,” | said.

Q78. Put the verbs in the brackets into the correct present tense:
My daughter never (write) to me so | never (know) what she (do).
1) My daughter never wrote to me so

I never knew what she do

2) My daughter never write to me so

I never knew what she does.

3) My daughter never writes to me so
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| never know what she is doing.
4) My daughter never writes to me so

| never knew what she does.

Q79. Pick out the correct synonym of the word ‘cantankerous’
1) Rash

2) Quarrelsome

3) Noisy

4) Disrespectiful

Q80. Pick out the sentence that has a demonstrative adjective in it.
1) It is a twenty-kilometre walk

2) This kind of question is often asked in examinations.

3) Each of them received ten rupees.

4) His written statement differs from his oral one.

Directions: Read the given passage carefully and answer the questions (Question Nos. 81 to 85)
that follow by selecting the most appropriate option.

Work expands so as to fill the time available for its completion. The general recognition of this fact is
shown in the proverbial phrase, “It is the busiest man who has time to spare”.

Thus, an elderly lady at leisure can spend the entire day writing a postcard to her niece. An hour will
be spent in finding the postcard, another hunting for spectacles, half an hour to search for the
address, an hour and a quarter in composition and twenty minutes in deciding whether or not to
take an umbrella when going to the pillar-box in the street. The total effort that would occupy a busy
man for three minutes, all told, may in this fashion leave another person completely exhausted after

a day of doubt, anxiety and toil.

Q81. What is the total time spent by the elderly lady in writing a postcard?
1) Three minutes

2) A full day

3) Four hours and five minutes

4) half an hour

Q82. What happens when the time to be spent on some work increases?
1) The work is done smoothly
2) The work is done leisurely

3) The work consumes all the time
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4) The work rieeds additional time

Q83. What does the expression ‘pillar-box’ stand for?
1) A box attached to the pillar

2) A box in the pillar

3) Box office

4) A pillar-type postbox

Q84. Who is the person likely to take more time to do work?
1) A busy man

2) An elderly person

3) A man of leisure

4) An exhausted person

Q85. Point out the most appropriate explanation of the sentence, “Work expands so as to fill the
time available for its completion”.

1) The more work there is to be done, the more the time needed.

2) Whatever time is available for a given amount of work, all of it will be used

3) If you have more time, you can do more work

4) If you have some important work to do, you should always have some additional time.

Directions: Read the given passage carefully and answer the questions (Question Nos 86 to 90)
that follow by selecting the most appropriate option.

Helicopters are very different from airplanes.

They can do three things that airplanes cannot do. First, when airplanes move upward, they must
also move forward, but helicopters can move straight up without moving ahead. Second, helicopters
can fly backward, which airplanes cannot do. Third, helicopters can use their rotors to hover in the
air, which is impossible for airplanes.

Helicopters can perform actions that airplanes cannot, they are used for different tasks.

Since helicopters can take off without moving forward, they do not need a runway for takeoff. They
are used in congested areas where there is no room for airplanes or in isolated area, which do not
have airports. Because they can hover, they are used on fire-fighting missions to drop water on
fires. They are used in logging operations to lift trees out of forests. Helicopters are used as air
ambulances to airlift patients out of the situations, which are difficult to reach by conventional
ambulances. The police use helicopter to follow suspects on the ground or to search for cars on the

ground. Of course, helicopters have military uses because of their design and capabilities.
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Q86. The word congested’ in the passage means
1) the place is roomy

2) the place has no place

3) the place can be accessed by police vans

4) the place has so much of smoke due to fire

Q87. A helicopter can hover while an airplane cannot, according to the passage.
‘Hover’ in the passage means

1) stay at one place in the air

2) move straight up in the air

3) go backward in the air

4) fly sideways

Q88. Point out the grammatical category of the word ‘perform’ in the passage.
1) Noun

2) Verb

3) Adverb

4) Helping verb

Q89. Why is a helicopter used as an ambulance?
1) Its movement can be manoeuvred easily

2) It crosses all difficulties of traffic.

3) It reaches the inaccessible places easily

4) It can fire-fight

Q90. Point out the grammatical category of the word ‘very’ in the passage.
1) Adverb

2) Adjective

3) Noun

4) Verb

Part IV

Mathematics and Science

Q91. Find the biggest 4-digit number which is a perfect square
1) 9999


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

2) 1899
3) 9000
4) 9801

Q92. When x** + 1 is divided by x — 1, then what is the remainder?
1) 0
2)1
3) 2
4) -1

Q93. If A and B are non-empty subsets of a set C, then A U (A N B) is equal to
1)ANB

2)AUB

3)A

4)B

Q94. The population of a village increases by 5% yearly. If at present the population of the village is
4410, then what was the population before two years?

1) 4420

2) 4430

3) 4440

4) 4000

Q95. A company makes an advertisement of shares to collect a capital of Rs. 25 lacs. If the printed
price of one share is Rs. 100, then find the number of shares circulated by the company

1) 20000

2) 25000

3) 30000

4) 15000

Q96. From a pack of 52 playing cards, a card is drawn at random. What is the probability that the

card is a spade or an ace?
4

1) 5
6

2) 5

8
3)5
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2
4)5

Q97. In the given figure, ABCD is a cyclic quadrilateral. Then the ordered pair (X, y) is

1) (15°, 25°)
2) (10°, 15°)
3) (15°, 35°)
4) (40°, 35°)

Q98. For what value of x, the mode of the following data is 27?
25, 26, 27, 23, 27, 26, 24, X, 27, 26, 25, 25

1) 27

2) 24

3) 25

4) 26

Q99.Ifx=2,y=1,z=-3, then x® + y3 + z8 — 3xyz equals
1)6
2)2
3)8
4)0

Q100. In a religious gathering, the ratio of number of ladies to that of gents was 3 : 2. When 20
more gents joined, the ratio was reversed. The number of ladies was
1) 36
2) 40
3) 16
4) 24

2 c — 2a-3b+5c

Q101. For three non-zero real numbers a, b, c if% =3=3

then the value of k is
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1) 10
2) 15
3) 20
4) 25

Q102. If A and B be any two sets such that A\B = A, then AN B is
1)®

2)A

3)B

4)AUB

Q1083. If the roots of the equation x? — bx + ¢ = 0 are two consecutive integers, then b? — 4c is
1)1
2)-1
3)0
4)2

Q104. The HCF and LCM of two nhumbers are 13 and 1989 respectively. If one of the numbers is
117, then the other number is

1) 222

2) 221

3) 223

4) 225

Q105. Jatin buys an article for 10% less than its value and sells it for 10% more than its value. His
gainis

1) 20%

2) 222%

3)22%

4) None of the above

Q106. If the roots of the equation x2 — px + 54 = 0 are in the ratio 2 : 3, then the value of p is
1) 18

2)21

3) -21

4) 15
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Q107. The ratio of the heights of two right circular cones is 25 : 64 and the ratio of their diameters is
4 : 5. The ratio of their volumes is

1)1:3

2)1:4
3)5:8
4)1:2

Q108. If A ={x: xis a letter in word BELOW}, B = {x : x is a letter in word WOOL} and C = A — B,
then the number of subsets of C is

1)1

2)2

3)3

4) 4

Q109. The perimeter of a rhombus whose diagonals are 10 cm and 24 cm is
1) 120 cm

2) 34 cm

3) 68 cm

4) 52 cm

Q110. The number of observations in a survey is 40. If the mean of the first 10 observations is 4.5
and that of remaining is 3.5, then the mean of the whole survey is

1) 2.82

2) 3.80

3) 3.75

4) 4.25

Q111. A right circular cylinder of maximum volume is cut from a solid cube of edge 14 cm. The total
surface of the cylinder is

1) 924 cm?

2) 1134 cm?

3) 2464 cm?

4) 616 cm?

Q112. There are 50 numbers. Each number is subtracted from 53 and the mean of the numbers so

obtained is -3.5. The mean of the given numbers is
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1) 49.5
2) 53.5
3) 46.5
4)56.5

Q113. Ten observations 5, 9, 14, 15, x + 1, 2x — 13, 28, 30, 32, 34 are written in ascending order.
The median of the data is 24. Find the value of x.

1) 20

2) 19

3)21

4) 16

Q114. 44 cows can graze a field in 9 days. How many less/more cows will graze the same field in
12 days?

1) 15 cows more

2) 11 cows more

3) 11 cows less

4) 15 cows less

Q115. Which of the following statements is true?

1) Different branches of Mathematics, viz., algebra, geometry, etc, are dependent on each other.
2) Equations can be learnt without learning arithmetic

3) Congruence of triangles can be learnt without learning algebra

4) Statistics can be learnt without learning algebra.

Q116. Which among the following is the best pedagogical way to teach Mathematics?
1) Motivate the learners to develop their existing capabilities

2) Find the weakness and teach only those parts

3) Find the gaps and address only them

4) Teach every student with the same approach

Q117. If A’s salary is 25% more than that of B, then how much percent is B’s salary less than that of
A?

1) 25%

2) 18%

3) 20%

4) 15%
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Q118. The sum of two natural numbers is 8. Determine the numbers if the sum of their reciprocals is
8

15’

11,7
2) 4,4,
3) 2, 6,
4)3,5

Q119. The expenditure of a family in a month is given in the figure below:

Education
25%

Savings
20%

If the difference of expenditure between education and travel is Rs. 4,000, then what will be the total
income of the family?

1) Rs. 50,000

2) Rs. 40,000

3) Rs. 60,000

4) Rs. 30,000

Q120. The Sl unit of heat is
1) joule

2) erg

3) calorie

4) watt

Q121. If P, F and A represent pressure, force and area respectively, then

nyp="=
2)P =1
3 ="
np="
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Q122. If the momentum of a body increases from 10 units to 25 units in 5 sec, then the force acting
onitis

1) 1 unit

2) 2 units

3) 3 units

4) 4 units

Q123. Mica is used in cooking utensils because it is

1) good conductor of heat but bad conductor of electricity
2) bad conductor of heat but good conductor of electricity
3) good conductor of both heat and electricity

4) bad conductor of both heat and electricity

Q124. The angle of dip at magnetic pole of earth is
1) 0°

2) 45°

3) 90°

4) 135°

Q125. Sound waves consist of 20 compressions and 20 rarefactions in 10 m length. The
wavelength of the waves is

1) 25cm

2) 50 cm

3) 75cm

4) 100 cm

Q126. If g and % be respectively the absolute refractive indices of water and glass, then the
refractive index of glass relative to water is

1)2

2)2

3)2

3
e

Q127. In household wiring, what is the colour of ‘earth wire’?
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1) Red

2) Green
3) Black
4) White

Q128. Kirchhoff’s current law is based on the conservation of
1) energy

2) momentum

3) charge

4) mass

Q129. The decimal equivalent of the binary number (1101), os
1)9

2)11

3) 13

4) 15

Q130. Which of the following is not a constituent of petroleum?
1) Petrol

2) Coke

3) Paraffin wax

4) Lubricating oil

Q131. A metal M does not liberate hydrogen from acids but reacts with oxygen to give a black
colour product. Identify M.

1) Na

2) Mg

3) Cu

4) Ca

Q132. Which of the following has maximum number of atoms?
1) 16 g of N2

2) 16 g of CO2

3) 16 g of CH4

4) 16 g of O2

Q133. In laboratory, ethylene and acetylene can be distinguished by
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1) Br2/H.0
2) KMnO4/OH&/H:0
3) Tollens’ reagent

4) Fehling solution

Q134. In which of the following compounds, the oxidation number of oxygen is +27?
1) OF;

2) Na2O

3) NaO3

4) NaOs

Q135. The monomer of natural rubber is
1) Neoprene

2) Isoprene

3) Terylene

4) Orlon

Q136. Which compound has the highest boiling point?
1) n-Pentane

2) Isopentane

3) Neopentane

4) Isobutane

Q137. The number of 1-electrons in the molecules of aromatic compound is
1) 4n

2)4n+1

3)4n +2

4)2n +4

Q138. Rutherford’s alpha (a) particle scattering experiment resulted into the discovery of
1) proton

2) nucleus in the atom

3) electron

4) atomic mass

Q139. Which one of the following is not a heterogenous mixture?
1) Air
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2) Milk
3) Smoke
4) Jelly

Q140. Silk farming is known as
1) Epiculture

2) Pisciculture

3) Sericulture

4) Agriculture

Q141. All organisms belonging to the kingdom Protista are
1) unicellular and eukaryotic

2) unicellular and prokaryotic

3) multicellular and prokaryotic

4) multicellular and eukaryotic

Q142. Which of the following pigements is associated with the germination of seeds?
1) Phytochrome

2) Plastocyanin

3) Chlorophyll

4) Xanthophyll

Q143. The tissue that connects one bone with the other is caled
1) adipose tissue

2) cartilage

3) epithelium

4) ligament

Q144. Viviparous germination of seeds occurs in
1) mango

2) rhizophora

3) potato

4) sugarcane

Q145. The source of oxygen liberated as byproduct during photosynthesis is
1) carbon dioxide

2) water
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3) glucose
4) chlorophyll

Q146. The component of blood that prevents its clotting in intact blood. Vessels is
1) antibody

2) heparin

3) thrombin

4) haemoglobin

Q147. Islets of Langerhans are present in
1) stomach

2) liver

3) pancreas

4) heart

Q148. Enzymes are chemically
1) lipid

2) acid

3) carbohydrate

4) protein

Q149. Which of the following acids is also a vitamin?
1) Formic acid

2) Ascorbic acid

3) Maleic acid

4) Palmitic acid

Q150. If a, a + 2, a + 4 are prime numbers, then the number of values of a is
1) one

2) two

3) three

4) more than three
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1) 27
2) 24
3) 25

4) 26
Q99.Tfd Y< If x =2,y =1, z = -3, then x® + y® + z° — 3xyz equals

1) 6
2) 2
3)8
4)0

Q100. T UTfHfer S H Rt SR gos o1 TReamafi &1 SuTd 3:2 UTI 20 3R Yol & 3§
3UTd Idc T |t @ e farat o
1) 36

2) 40
3) 16
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4) 24

Q101. mﬂ’waﬁmm&ﬁ a, b, Ca;i%.l-q-qﬁg _ g _ € _ 2a-3b+5c

B AKkPTHAS ' )
1) 10

2)15
3) 20
4) 25

Q102. Afg A 3R B P13 ol Y= &, o foh A/B = AGl, A ANB &
1) @

2) A
3) B
4)AUB

Q103. T 7 & Ha < ST quf JEA &, A §
1)1

2) -1
3)0
4) 2

9104.%??r¥iwaﬁ$m. . 3R @. 9. SHHRT: 13 3R 1989 § | Tfe Ueb WA 117 B, o GIRt
T © ;
1) 222

2) 221
3) 223
4) 225

Q105. T T I B! ITP T J 10% HH TR WGl § AR ID T F 10% 3% TR J9al g
ITHTAH B
1) 20%

2)222%

3)222%

4) ITgad # 9 DIs a1

;glfg.qi%m%ﬂﬁ% U HE, AP HTHAE
2; 21

3)-21
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4) 15

Q107. & THEGITT Xigpafl BT el o1 ST 25:64 TUT I I BT 3UTd 4:5 § | D
3T BT 3T §
1)1:3

2)1:4
3)5:8
H1:2

Q108. T A= {x : x g BELOW &1 TH .31&R g}, B= {x : x Y& WOOL HT T 3R I AU C=A—B

g1, @ ¢ & SUu=ad! Bt W& §

1)1
2) 2
3)3
4) 4

Q109. T JHATHT & fadul 10cm 24 cm &1 STHTURAT § |
1) 120 cm

2) 34 cm
3) 68 cm
4) 52 cm

Q110. U qa&u1 § Tefuif &t At 46 81 f UUH 10 V0T &1 HILT 4-5 TUT /Y BT A1 3-5 Al ]
G011 e B
1) 2.82

2) 3.80
3) 3.75
4) 4.25

Q111. 14cm HR I TP 319 T4 ¥ 3y &1 Uh THIITIIT Sa pIel Sl & | 39 Sa o . geguf

P
1) 924 cm?

2) 1134 cm?
3) 2464 cm?
4) 616 cm?

Q112. 50 TATE <1 718 B | 8% U= B! 53 H J TR WIdT & 3R U TReAT3f 1 HIed -3-5 31 Y TS
RT3 BT A §
1) 49.5
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2) 53.5
3) 46.5
4)56.5

Q113, TH U&UN 5, 9, 14, 15, &+1, 2-13, 28, 30, 32, 34 ! 3RIG! HH H HaARYd a1 STl 8| 37
i S] Bl AIHDBT 24 B « BT A (JTd BITI
1) 20

2) 19
3) 21
4) 16

%1#4.Q$ﬁaqaﬁ44nﬁ9ﬁﬁﬁmé?ﬁ%|§€ﬁﬁmﬁm=ﬁﬁwmvﬁ 12 oA =R
?

1) 15 T S4Ta&T
2) 11 T SaTaT
3) 11 T4 &H
4) 15 T HH

Q115. 5 | I -1 YT 4 82

1) IO 1 fafie TaTt, S Sorior, fifd gdne, e -gor W AR 1
2) 3B &) U fodT t THiepRon &) uer . S1-Tehdl gl

3) diorTford @t ug famm ot Ayt & Ia=udr. ugl ST 9l 81 @

4) SorTiord &1 ue o o gifeae! udt o It 3.

Q116. Fufeiaa & 3 wforg e Qeifdre e Iad 3T 32

1) TRI&TRIG! o1 It faer &arsii & e Rid 3 & oy Wieiifed =T
2) Bad Bl GEH Il 81 UGHI

3) Had T STHR I g2 DAl

4) & e &1t g1 e A U

Q117. e AHT AT B & A T 25% 3HfIP 8, A B BT a1 A & da- ¥ fard=1 Ufawrd 4 872 |*

1) 25%
2) 18%

3) 20%
4) 15%

Q118. <1 UTpfeieh WeHSHT 1 AT 8 §1 TFE STch bl BT TNT - TR B, Tl G Wewmadl &1
Hifor|
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Q119. farsht ufkaR &1 A o g fiE & SFaR ©: |

e e quT a1 W T &7 3R Rs. 4,000 8, A1 URAR &1 $d M1 fa-t gl
1) Rs 50,000
2) Rs 40,000
3) Rs 60,000
4) Rs 30,000

Q120. ST HT TY. 313, HED il §

1) o[
2) 3
3) HaRt
4)dre

lel.qiép, F TUT A U STd, 96 U9 &5 d &1 UG iRid &d g, o
Hp==

2)P =

w
=
-
Il
S > TN NON (e > TN O e S TN NN

4P =

(%9122. gfe 5 YHUS | Uh a¥] BT AT 10 AFG Y | Fgdbx 25 HHFAD 81 oMY, 1 59 IR SRR 9 | il
1) 1 9
2) 2UED
2) 3 UED
4) 4 T

Q123. @HT I & T | 1Y BT IUTNT §IdT 7, i I8 .
1) ST BT YATdD: Bia ¢ fobwd faggd &1 Harad

2) $OAT &1 HaTad BIdl § fbq fagyd &1 JaTae® .

3) ST 9T faggd aIF! &1 Jard® gidl §

4) ™1 7T fIggd aIF! &1 Harad gl §

Q124. P& & FBIY Yd TR THT BV g 2.
1) 0°
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2) 45°
3) 90°
4) 135°

Q125.10 m TS & &1 X § 20 foRe & 1 a1 &1 avree §
1) 25 cm

2)50 cm
3) 75 cm
4) 100 cm

lee.tri?qﬁaznﬁ%ﬁwmaﬁqu:gmngwﬁ,aﬁuﬁ%aﬁ&rﬁawe—mﬁaﬁsﬁm
g

1)§

2)3

3)§

3
2)2

Q127. TR AR § *Y-dR” BT T BT BIa 872
1) ATt

2) BT &,

3) BTl

4) g

0128. Th@I% &1 YRI-Tra e foeges TR0, TR TR 872
1) Soll

2) o

3) 3{TART

4) GO

Q129. fg-3MURY T=AT (1101), & I GRHAT H&AT
1) 9

25 11

3) 13

4) 15

Q130. Fyfafaa & ¥ o1H-91 Ueiferad v sfaud
TRl 82

1) U5 IR

2) BIh

3) WRIfth= A1

4) AED dd

Q131. T U1 M 31 F fohar ‘IR g2 1o Hod et Rl § IR SHTR{TSH ¥ fohal R U w1l 771 &1
e AT 1 M B! Tg= |
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1) Na
2) Mg
3) Cu
4) Ca

Q132. Fafafea & 9 forad wRaTsii &t e Sifidmad g2
1) 16 g of N2

2) 16 g of CO>
3) 16 g of CH4
4) 16 g of O2

133. TINTTe H, TRl 3R Tifeehi= &l Fa & 9 frge gri fanfed fear Sran g2

1) Bro/H20

2) KMnO./OHS/H,0

3) el SNHHB D

4) e faaeA

Q134. Ry AifTe! 7 Q fHaH sifwRfior &) siferfienvur Tam +2 82
1) OF;

2) Nazo

3) N8.02

4) N8.03

Q135. Wi IR T UHAD gidl & &
1) fFaid=

2) =AY

3) CJef

4) \J \J

Q136. Galfid RiFiH arAriG g
1)n—ﬁ%‘—[

Q137. WAfew A & .3upaff & m g bt U= Bl §

-~

Q138. TEIWIS & UeWhT (a) HUT Ueb 0 ' JIIT HURUMTAGEY WIS favaT T
1) Urei- &1

2) UMY | 1S BT

3) 3AaCI BT

4) TRYUA GO &1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Q139. Fufafad 7 @ oiH-a1 te fawwit fiygyor 78t g2
1) &dl
2) gy
3) g3
4) Sl

Q140. YRHUTE HIT HEATd 82
1) TUdHeeR

2) iR

3) Wb

4)

Q141 .Ufe ST ¥ Jra @ aTd IH Silaer gld 8
1) TR aUT ghRafes
2) TH BRI Tl WehRaifed
3) IgH IR IuT UihRalfes

4) ISP qUT JHRANMCH

Q142. Faffad & ¥ HH-I1 avies il & 3HRUr I Jrae Tl 82
1) BIeihid

2) TR

3) HaARIhd

4) SRfpa

Q143. I8 Hab, S TP g3 (3IRY) BT g 831 F: ST 3, oA 8 & P
1) YT $Had &

2)

3) U

4) g

Q144, ol &7 SRIYS (AfUR) SHRUT ST &, ||
1) 3maH

2) TESAERT A

3) 3T H

4) T H

Q145. UHTRI-HIAYUT H JUITE & =0 H Jod HT I g *
1) BT SRHHHAZS

2) 9

3) DIl

4) TR BT

Q146. I BT I8 U, St Grguf Iad IR0 H ST Y] - S APaT 8, B
1) Wdiare

2)

3) Yifte

4) SN _

Q147. AR B! i fora® urg ot 82



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

1) {THIRA
2) Ipd &
3) SRR
4) &g

Q148. TT3H IS T J Bd &
NGNS

2) 3

3) IS

4) WA

Q149. Fyfiad 7 Q HH-3 31 faerfde i 872
1) BIH® 3

2) T Ifa e 3

3) At 3na

4) UTfAfe s 3T

Q150. T a, a + 2, a + 4 AHTST T &I, ANl a P fbd- HH 82
(7) Uch.

2)al

3) dH

4) dH I 31w

HNAT - IV
JQTHITS T / 3 faug

Q1. UGS fAHh HRIGH [ (bl T U7 a8
1) 1952 H
2) 1955 H
3) 1957 ¥
4) 1960 H

Q92. YRd & I=AH AT 1 URTT Ty & gfard! afe o1 Rigra fean
1) Y[H1 T¥ITG & HHA |

2) goH g & A #

3) MAGY & AHAH

4)HRAHE HRT & A

Q93. HR TfAYH & by srfda & Sfwiid, IsuuTe Teb 98T &1 Ayufd S1 Wpfd & forg Jrfara
TG P fad @l 82

1) 3G 52

2) 3fJ=5q 108

3) 3w 200

4) 3fT=5G 213

Q94. YRd & IWIYUTd H1 Mafed /Mafae-Ausd gRI fobar SiraT 7, fords w8l 3
1) IT THT & I Tgw.
2) G & GHI Jei & gt Jew.
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3) TE & I geHl & (difad ges
4) T JHT & Faifad Tew.

QU5. DIF-TT < TAY (TTeh) BT YT e &
1) Ye[

2) AuTd

3) IRl

4) ST

Q96. IoTgd UfT & TEH B 52
1) 3= &. PRI

2) I P S

3) 3. Hidl I

4) T, ST SR

Q7. Wi Bl BT T §
1) &0 HaT ¥
2)1%2@1# 3

3) 3NYAH Hell

4) UMy Har

Q98. g fSwET Hed g &

1) ST HRT Dl

2) ST BRI F I [SSIg ol
3) 91 A & feome &1

4) 3T § A DIs a1

Q99. TUUT &1 Jra forg IoT T 82
1) IR U

2) A U

3) TERTE

4) 3TRIgUs

Q100. fegearit ifid & gl &1 oo fara1 T
1) 22
2) 13
3) 12
4)9

Q101. g ¥fia & Y iR fagd Fa e frda W eld 82 -
1) 12
2)8
3)7
4)11

Q102. IR AT BT YINT fhd et & Iry fovaT Sdig!
1) AR
2) TR
3) Yua
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4) BTl

Q103. 390 ¥ B dd dIGH T8l 82
1) U. f=H O8RS

2) STIfa g8 &

3) JHE XM &,

4) 3gug M e

Q104. YA IS1F Wl Hgl I gu?
1) foeedt

2) 9

3) Serebl

4) AgTE

Q105 “3{TS YRd B! TMdl B! Tal, Heald HaMH BI aadhdl g 1" I8 81 [daR® & Udd fbar g
1) TFUH

2) W fdddb—g

3) &

4) =41

Q106. T f&aq Hd AT S 82
1) 25 3T
2) 29 3T
3) 30 3T
4) 31 3FT

Q107. TN & T T TR T~ 1T SR & AW DI 82
1) TEfY WRd

2) U8l IRg

3) ey udsifer

4) 7ef¥ Gaad

Q108. Sz e W 59 had ¥ Twfd g2
1) U

2)

3) AT,

4) g

Q109. T & HH-Hl 7T ghToN 3= B 82 |
1) TR

2) Y.

3) et

¢ YRURDHR

Q110. HRd &I $d fha B Serarg &= & drer
T 82

1)9

2) 12

3) 15
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4) 22

Q111. Bz fit #1 Gafa §
1) USH® Sl
2) TR &l
3) JHIOTd o
4) Geliepd ot

Q112. HI1g 3iwefiy ud Ty wen T T §
1) sexEie §

2) 1% faweht

3) Hiare

4) TGS |

105. “Today India does not need Gita but needs a football ground.” This thought
was given by which thinker?

1) Radhakrishnan

2) Swami Vivekananda

3) Plato

4) Rousseau

106. The Sports Day is celebrated on
1) 25th August
2) 29th August
3) 30th August
4) 31st August

107. Who is the author of the most prominent book on Yoga, Yog Darshan?
1) Maharshi Bharat

2) Maharshi Narad

3) Maharshi Patanjali

4) Maharshi Devadatta

108. ‘Zein’ protein is related to which crop?
1) Paddy

2) Soybean

3) Maize

4) Oat

109. Which breed of cow is of dual purpose?
1) Gir

2) Jersey

3) Sindhi

4) Tharparkar

110. India has been divided into how many Agro-climatic Zones? .
1)9

2) 12

3) 15

4) 220

111. The progeny of nucleus seed is
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1) breeder seed
2) foundation seed
3) certified seed
4) registered seed

112. The Central Institute of Medicinal and Aromatic Plants is situated in
1) Hyderabad

2) New Delhi

3) Bhopal

4) Lucknow

113. ATHcS 9 & fore qaffte Suged wa @
1) el

2) Siigd

3) Teel

4)§d

114. =510 e YT SFHu IR fRd §
1) 7S et o

2) SqTgTeTE H

3) IR |

4) TS H T

115. Ol 99 § fbg uRReres o1 UanT 81T 82
1) YT

2) Ufged

3) UeWIgE

4) TR SR3TISS

116. HIR T b ST §
1) HicTHT

2) T 9

3) QW afde 9

4) STgI-gAyS o

117. A9 TR & S fbd-t gaferal gt 82

1) 22

2% 26

3) 24

4) 28

118. dlo To dio BT AebT fobg T T §ATT HRAT 872
1) dufed

2) feefifvan

@ frardl R

4) DT T

119. RIS 1T e b T3 weman wirert &2
DRISS!
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2)20 AP
3)25 A G
4) 28 I

113. The most suitable fruit for marmalade making is :
1) banana

2) jamun

3) malta

4) bael

114. The Central Food Technological Research Institute is situated in
1) New Delhi

2) Allahabad

3) Mysore

4) Lucknow

115. Which preservative is used in jelly making?
1) Sugar .

2) Pectin

3) Sulphite

4) Sulphur dioxide

116. Saffron is obtained from
1) bud

2) leaf -

3) flower stigma

4) calyx

117. How many ribs are there in human body? |
1) 22

2) 260

3) 24

4) 28

118. Which disease is prevented by TAB vaccine?
1) Tuberculosis

2) Diphtheria

3) Typhoid

4) Pertussis

119. On which day is International Yoga Day celebrated?
1) 21st June
2) 20th June
3) 25th June
4) 28th June

120. fop7 578 H Tiig & HAWH BT IUTNT BIdT 82
1) Sl 9

2) it I

3) I o

4) AT I
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121. “3PTATY & TRaPb o
1) dgoar

2) Tifor=

3) Yhad

NG IED

122. fgia st T o1 ST e IR | g o
1) I&THS
2) HETUT<

3) Ry
4) HTATRMND.

123, 3(PHeR A “Iaied WHT H1.fA4T0r warr Ut
1) 3R H

2) AR it &

3) fawett

4) Rihexr

124, 3T JANS ST RO g8 & s
1) 1865 H
2) 1870 ¥
3)/ 1875 |
4) 1880 H

125. 379 q P FTHR] His J THERT gt UT?
1). ravTG fafdra

2) ok ARyl

3) SRBIHIc T

4) 4 9 19 3t

126. AI-T-3eMGT o1 RITGAT fba i
1) GEHIE TToHdT T

2) gAY

3) 3peR

4) TRTME G

127. 51 9T fbgos YTATd | HRA {7 41?2
1) 949gd

2) T fasafed...

3) gYaeH

4) Xb W

120. In which clothes is resin starch used?
1) Woolen clothes

2) Cotton clothes

3) Silken clothes

4) Nylon clothes

121. Ashtadhyayi was written by
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1) Vedavyasa
2) Panini

3) Shukadeva
4) Valmiki

122. The Second Buddhist Council was held during the reign of
1) Udayabhadra

2) Mahapadmananda

3) Shishunaga

4) Kalashoka

123. Akbar constructed Tbadat Khana’ in
1) Agra

2) Fatehpur Sikri

3) Delhi

4) Sikandara

124. The Arya Samaj was founded in the year
1) 1865
2) 1870|
3) 1875
4) 1880

125. Who among the following was not associated with the Kakori Case? :
1) Ramprasad Bismil

2) Rajendra Labhiri

3) Ashfaquilah Khan

4) Surya Sen

126. Who is the founder of Din-i-llahi’?
1) Muhammad Ghaznavi

2) Humayun

3) Akbar re

4) Sher Shah Sun

127. In whose reign did Hsuan Tsang com Tto India?
1) Samudragupta

2) Chandragupta Vikramaditya

3) Harshavardhana

4) Skandagupta

128. 39 SCYMEI H ¥ fHY “dHa< HgT SIaT UT?
1) TR

2) gHIY

3) BN

4) TSR

129. ST BT AU B3 aTdl Ta-R-SRA AT
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130. o g frg T & SHTeR U7
1) RER

2) SHTEIRIR

3) 3@y T

4) fagr

131.ﬁ%%@aﬁﬁaﬁq-%ﬁﬁwwqmﬁ%@ﬁ$aﬁqﬁ$aﬁwwﬁ@hﬁw
I 5?2

1) fay &1 ISfae aAfE

2) fay &1 wipfas Tl

3) TS
4) IUYHI H A BIg 61

132. T R1&0r o1 Iugad fafd 3
1) ygur fafdr

2) ardtemy fafdr

3) Sl fafy

4) I0Gad § A DIS g1

133, mﬁaﬁﬂmﬁﬂé@ﬂmﬁmww%

3)waﬂqué?s{&r€rm
4) fufes qARE 3

134, T-3HR P Ut &1 AT gar g
1) Rrdigrie

2) T G

3) U gRI

4) IR a8 gRI

135. 3fIferaT &t ISTe §
1) Rredig

(2 P

3) AdaH

4) forgem

128. Who among the following emperors was called ‘Qalandar’ ?
1) Babur

2) Humayun

3) Akbar

4) Shah Jahan

129. The Governor-General who partitioned Bengal was
1) Curzon

2) Canning

3) Minto

4) Mayo
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130. Kunwar Singh was the Zamindar of which State?
1) Barrackpore

2) Jagdishpur

3) Avadh |

4) Bithoor

131. Which one of the following is the most suitable teaching aid to show proportionate size and
shape of continents?

1) Political map of the world

2) Physical map of the world

3) Globe

4) None of the above

132. The suitable method of Geography teaching is?
1) tour method

2) discussion method

3) story method

4) None of the above

133. A universal language of the map can be understood by the way of
1) sketch

2) conventional symbols

3) alphabets

4) thematic maps

134. U-shaped valley is formed by
1) glacier

2) river

3) winds

4) sea waves

135. The capital of Australia is
1) Sydney

2) Canberra

3) Melbourne

4) Brisbane

136.ﬁ-|c1|§ 4l p R[]
1) SR H

2) IRTS H

3) A Y |

4) 3ifg=mH

137. FrafifEd 6 & A S19-91 Saurc A BT IS 87
1) qeie

2) GTHIR

3) A

4)

138. T50dR B U@ Bl gea gl &
1) g4 @1 3R

)PWIAR
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3) STR-Td BT 3R
4) TH&UI-gd BT 3R

139, fAuferfad 7 @ ®19-91 Y § T g2
1) gHYART

2) Afdes ardt

3) §Ta®

4) J1a

140. Fyfafad 7 I SH-91 SUrefedthiy AoRId 781 82
1) =T

2) 3Rferr

3) Mat

4) BIATERI

141, 1UhH faAIHAT P71 31dfe

1) Sgil $Tg & Y Tedl dUHH
2) Sl TS P ATY el dIdshH
3) TGl ST & WY R AUHH
4) Fgd1 HaTs & 1Y 3R dMIshd

142, FREfTRGd Sremerdl # -9 Re=< uRAISHT ¥ graiid 82
1) TTelt PR

2) Tlifd=g Sy Ud IFR

3) SdIgIMR

4) Tfd=g IFR

143. R o ufrg tdfm =f @
1) O] T4 HRER &1

2) ITRIGUS &I

3) Rifdwy @1

4) Rura uex &1

136. Bhilai Steel Plant is located in
1) Chhattisgarh

2) Jharkhand

3) Madhya Pradesh

4) Odisha

137. Which one of the following rocks is an example of sedimentary rock?
1) Slate

2) Marble

3) Shale

4) Granite

138. The tail of a comet always points
1) towards the sun

2) away from the sun

3) towards north-east

4) towards south-east


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

139. Which one of the following is associated with fault?
1) Anticlinorium

2) Strike valley

3) Hogback

4) Graben

140. Which one of the following is not a tropical desert?
1) Atacama

2) Arabian

3) Gobi

4) Kalahari

141. Inversion of temperature means
1) decrease of temperature with height
2) increase of temperature with height
3) constant temperature with height

4) fluctuating temperature with height

142. Which one of the following reservoirs is associated with Rihand Project?
1) Gandhi Sagar

2) Govind Ballabh Pant Sagar

3) Jawahar Sagar

4) Govind Sagar

148. Shipki La is the famous mountain pass of
1) Jammu and Kashmir

2) Uttarakhand

3) Sikkim

4) Himachal Pradesh

144. TSI 37EqT & 3{eATTh b fANTawd P TIY-T1Y T ST AT
1) TRref Il o1

2) fRreror fafer &1

3) fRr&ur dbiih &1

4) ITgad # 9 DIs a1

145. YT fRreror ¥ aifie Iuaih Jers It @
1) hae

2) A

3) TR BTS

4)

146. YRAIT TG B1 DI9-T1 41T Hifcres SAfIBRT A TrafRd 87
1) YT |

2) HIT Il

3) HAT I

4) HIT IV

147. UARAT TS 1 Y2 P og HRAT Hfayr # Fafafed & 8 sH-a1 I2ny fear mar
1) 4291 NG
2) 4491 HRNYA
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(31 73l HMe
4) 86l TR

149. SRReAT T=01 § UfkaR e fowg URdh dfaum & siavia fow gt & wnfie g2
1) ST it

2) Y gl

3) THad gt

4) 3fafRry fawg

150. fFafafea & § sH-u1 e Rigr faew Hifa & gwfRid 82
1) 3¢ 48
2) 3G 49
3) 3@ 50
4) 396 51

144. The teacher of Social Studies should have the knowledge of the subject matter as well as
1) educational objectives

2) teaching methods

3) teaching technology

4) None of the above

145. The most useful teaching material for Geography is
1) calendar

2) map

3) flash card

4) barometer

146. Which Part of the Indian Constitution deals with the Fundamental Rights?
1) Part |

2) Part Il

3) Part il |

4) Part IV

147. Which one of the following Amendments of the Constitution of India deals with the issue of
strengthening of the Panchayati Raj?

1) 42nd Amendment

2) 44th Amendment

3) 73rd Amendment
4) 86th Amendment

148. The Office of the International Court of Justice is situated in
1) New York

2) London

3) Hague

4) Paris
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149. Population control is listed in which Schedule tanning Constitution?
1) The State List

2) The Union List

3) The Concurrent List

4) The Residual Subjects

150. Which one of the following Directive Principles is related to the foreign policy?
1) Article 48
2) Article 49
3) Article 50
4) Article 51
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